B

h T

N » D
[T Aayog has developed a composite

index for each state / UT, which

cach

aggregates towands

progress
Sustainable Development Goal (SDG),
and classifijes states in achievers, front-
runners, performers and aspirants. On
the basis of this composite index which

of the following state is not a Front-

Runner ?
(A)
(B)
©
(D)

Kerala
Tamil Nadu
Gujarat

Himachal Pradesh

In India, headline inflation is based on

(A) Consumer Price Index-Combined
(CPI-C)

(B) Consumer Food Price Index

(CFPI)

Consumer Price Index — Rural

©
Labourers (CPI-RL)

(D) Wholesale Price Index (WPI)

Paper-I

1.

ARy T Y v TSA/EH TSI 83 &

qummmwﬁwﬂ%ﬁm
el Furf R % & 6 A EH
el sfy ) enTT T @ ST Bl
wiftveat, anwf, e ik it |
Fiffpa T B | 79 ifhd GEHH &
IR @ e § @ | o el T

TER?
(A) =

(B) dHEg

(C) Td
(D) feame wew

W & v afts areft gerebhifa SmaTid

Bt B

(A) ST oA gESE  (§g0)
(CPI-C) R |

(B) 9T WY e Faehish (CFPI)

qT |

(C) I e s o 4)
(CPI-RL) R |

(D) ¥ T i (WPI) W |
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Which one of the following body is not

Bretton Woods

associated 1o

institutions ?

(A)  World Bank

(B)  United Nations

(C©) World
(WTO)

Trade  Organisation

(D) International
(IMF)

Monetary Fund

. + Under Government of India’s National

Air Quality Monitoring Programme
(NAMP) covering 312 cities / towns in
29 States and 6 Union Territories of the
which of the

combination has been identified for

country, following

regular monitoring at all the locations ?
(A) Sulphur Dioxide (SO,), Nitrogen
(NO,),

Monoxide (CO), and Suspended
Particulate Matter (PM, )

Dioxide Carbon

(B) CO,NO,, PM, and PM,

(C) CO, NO,, Oxygen Difluoride
‘(OFZ) and PM, , |

(D) Sulphur Dioxide (SO,), Nitrogen

(NO,), S;JSpended

Particulate Matter (PM,,) and

Dioxide

Fine Particulate Matter (PM, 5)

Series-B

w

1% 20 T 3R 6 T TS &1 % 312

Wi/ 1 HATTBIE! WITd §EHR & T
a1y Torere AR HRiHH (T
3 st R 2 e Py A 9
W frafa el & fog fafsa e
g7

(A) EoH SEATHIIE (SO,), TR

SRR (NO,),  FE
WIS (CO) T Feifad #d
T (PM, )

(B) CoO, NOZ’ PMIO EPMZS

© co, NO,, aifafiom SERITE
(OFZ) ’Q’q PM2.5

(D) ¥ Sréarioarse (SO,), T
ST (NO,), fcifed F1

T (PM, ) ik gew ot 7@
(PM, 5)
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LA R | I} N I 7 e

o ferrd T
| s oy AT ®
A ri((lnc
Chromosomal theory ©f inhe
. (A) A

was given by,

(A)  Waldeiyer T RRLES

(B) Mendel . 4

° © el
(C) Sutton and Boveri
(D) e
(D) Muller
6. fomdvar g oft o o 2

Higgs Boson are also known a5,
‘\1‘ (A) Electron (A) T Ham
s (B) Proton (B) &AM a
5*‘ (C) Neutrons ©) EHAFTHH

(D) God Particles (D) TS FUFAH Y

If the rupees per US Dollar exchange | 7. afQTH &4 FaUe | STy wiedl grl

rate changes from ¥ 60 to T 65 in a time ﬁﬁwarzsonﬁrmammws

period by the market forces, it implies ofy gler B St ], @

(A) Devaluation of Rupee (A) FCH ST B |

(B) Appreciation of Rupee (B) TCH stftregeaet By |
l C) No change in exchan t
i ©) ge in exchange rate © ﬁﬁwmﬁwﬁiwﬁaﬁwﬂm'
| (D) Depreciation of Rupee |
F p P (D) T T I G B |
" aper-1 Series-B
.
L
g STE—
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10.

11.

T eRAMANY BT e

Which one is not an example of

clcclromagnctic wave ?
(A)  y-rays

(B)  X-rays

(C) Ultraviolet rays

(D)  Supersonic waves

The speed of light in air depends on,

(A) Pressure

(B) Density

(C) 1t is independent of pressure,
temperature and density

(D) Temperature

Which is not an insect ?
(A) Spider

(B) House fly

(C) Bed-bug

(D) Mosquito

Light Emitting Diode (LED) work on
principle of

(A) Laser

(B) Thermionic emission

(C) Photoelectric code

(D) Electroluminiescence

Serles-B

. m—

10.

11.

ﬁqﬁﬁﬁqwﬁgﬂ-ﬁ"ﬁ’mmw
mﬂ“?ﬁ%?

) 1

@) *

© qdmt R

(D) Wﬁﬁiﬁﬂm

() THH
(B) Hdcd I
(©) 72 TE, A9 AR TTA B =T 2|

(D) dHW

Pretfefen 3 8 F e T R 7
) T

®) ew

©) w=

©) wem

THR IHH TvE @ ¥
e * FH

P .pel"l
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include,

(A)  Platform as a service
(B)  Software as a service

(C) Allotment of electromagnetic
Spectrum

(D) Infrastructure as a service

The form of information signal used in

sending fax and email is,
(A) Digital signal
(B) Analog and Digital signal both

12, Cloud computing services does not I 12, ﬁamﬁmmqﬁ i R :

(A) w= @

(B) Wiwaat &4l

(C) gm-eaha A A
(D) T HET

e T et Aed ST S
Tk &1 &Y 21aT 8

(A) Tefoea fam=
(B) e wd fefvea famer g1

(C) None of Analog and Digital signal
(D) Analog signal

(C) urerm wE fefrea e A a =g =8
(D) e fame

14. Nitrogen is taken by plants in the form 14. 9isgm ot I Teft T3 5 V2

of (A) Tz
(A) Oxide
. (B) e
(B) Nitrate
(C) Nitric acid (C) e e
(D) Chloride # (D) FNES
o
15. The basic unit of quantum information | 15, A Y H1 G Ty 3
is, } (A) BIT
(A) BIT | (B) BYTE
BYTE
®) ! (C) GIGABIT
(C) GIGABIT
| (D) QUBIT
| (D) QUBIT I
' paper-I 6 Series-B

{1
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16.

17.

18.

19.

Maize — Potato — Sugarcane (ratoon) —

Moong is the example of crop rotation
for

(A)
(B)
©)
(D)

2 years
3 years
4 years

1 year

The botanical name of macroni wheat
is :
(A)
(B)
©
(D)

Triticum aestivum

Triticum monococcum
Triticum durum

Triticum dicoccum

First herbicide produced in the world is :
(A)
(B)
©)
(D)

2,4,5-T
Pendimethalin
Semazin

2,4-D

'I"he deadly disease of groundnut is
(A)
(B)
©
(D)

Damping off
Powdery mildew
None of these

Tikka

Serles-B

N e e e e e e e S e e et

16.

17.

18.

it NE 1 TS T
(4) fefeww deam

B) ffewn MA=wEn
(©) R =

D) fefewm spten

T WA 1 fava & Ide
(A) 2,4,5-&

(B) YEiftenfam

(©) Renfem

(D) 2,4#

HTheft 1 sreafires gk 4
(A) I v

(B) it anferan

©) i AW T

(D) fewm
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20,

Bl BN B BE B ERE B B B B B e S

;::k;:::iia(;koughals the region of | 20, e} & woa slim’l"g ar e W
nown as AT ST A v |
W Ay (A) o)
i; :::ﬁh (B) 3wt
al (©) e
(D) Kukra —
2. The British entered into Jharkhand for 21, 3 1 wREvs § gdgem ghaw
the first time from the side of . < 3 gl |
(A) Singhbhum (A) fimm
(B) Pakur (B) S
(C) Chatra (C) =@
(D) Palamu (D) ey
22. Who was the leader of Bhumij Revolt? | 22. i fegim & Sy oy 7
(A) Bhagirath (A) Wity
(B) Dubia Gosain (B) gﬁmrﬁaﬂ
(C) Jatra Bhagat (€) VT N
(D) Ganga Narain (D) T TR
23. which of the following mal.u;o variety 23. :‘T.Tn A Ry} ¥ Pt &
s mostly exported from India ? AW ) HY TR A 9
() Langrs (A) g
®) Chausa (B) =
© Gaurjeet (C) "y
©) Alphonso (D), TR
pape’ I Serles-B
= ——rre .,
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24,

15.

26.

27.

Widow — remarringe in ___tribeis

called ‘Maiyari®.
(A) Asur
(1)  Uraon
()

(")

Korwa

Ho

What does «GGhumkuria® mean 7

cemetery

(A)
(B)
(€)
(D)

youth dormitory
dancing place

a place of worship

Which of the following festivals reveals

the economic condition of Pahari
Kharia ?

(A)
(B)
(©)
(D)

Karma
Phago
Jeth-Nava-Khiya
Maghe

The habitat of ____ tribe is known a3
“Tanda’.

(A)
(B)
(C)

Birhor
Munda
Mal Pahadia

(D) Karmali

Serles-B

e

24,

26.

b 312 P A T R
yrfler fRuf ST A B 7

(A) HTH
(B) ®IM
(€) Jy-Ta1-fam
(D) W™

_ anfenfit w5t frarg wH G S
AN W A AR |

(A) frg
(B) g

(&) Ww&'m
(D) e

paper-l

Scanned with CamScanner



&

3L

I . N
fon Shelting is the traditional

oCupation of e,

1

Which ofthe following places is known
as the village of temples ?

(A) Ramjari

(B) Narasimhapur

(©) Mahs

(D) Sisai

Mount Kailash is situated in which of
the following area ?

(A) Sikkim

(B) Tibet

(C) Nepal

(D) Uttarakhand

The caves of Palkot are located in
(A) Ranchi

(B) Lohardaga

(C) Gumla

(D) Hazaribag

paper-I

31.

E T FiEmeE
S

- - -
EREIRED '«u% |
(A) FF
-
ELERT

ﬂ'utal

(B)
©
(D)

AT

e s es s
FEIITFIEEIR ?

(A)
(B) TEEH
©) =@

(D) f&=3

a4

?mmhﬁ%%aéiﬁma
?

(A) T&iEm
B) fo=m
(©) ==
(D) STTEwz

TERRATE__ ¥ s
(A) s

(B) srEwem

©) TFem

(D) &M

Series-B
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32,  Which of the following combination 32.

of Nuclear Power Plant and state is

wrong ?

(A) Kaiga-Uttar Pradesh
(B) Kalapakkam - Kamataka

(C) Kakarapar - Gujarat
(D) Kudankulam - Tamil Nadu

Tax on sell of inherited property is

-
LIS ]

(A) Capital Gain Tax
(B) Land Tax
(C) Wealth Tax

(D) Income Tax

34. Which one of the following classical

dance in its present form has influence
of Mughal tradition ?

(A) Kathakali

(B) Kathak

(C) Mohiniattam

(D) Bharatanatyam

35, World's most problematic aquatic

weedis -
(A) Azolla

(B) Eichhornia
(C) Trapa

(D) Wolffia

Serles-B 1

33.

34.

35.
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36.

37.

38.

39.

Which of the following is one of the ore

of iron mineral 7
(A)  Chromite
(B) Malachite
(C) Bauxite
(D) Hematite

Which of the following is not a feature
of urban life ?

(A) Competition
(B) Impersonal relationship

(C) Loss of humanistic value

(D) Informal ties

Before 1947, 26" January was called as
(A)
(B)
©)
D)

Republic Day -
Martyr’s Day
Constitution Day

Poorna Swaraj Day

Which of the
maximum indoor chemical pollution ?
(A)
(B)
©
D)

following causes

Burning mosquito coil
Burning coal
Burning cooking gas

Room spray

Paper-1

6.

37.

38.

e i 2 <l T O I R 7
(A) T
(B) AeATHIEE
(C) =aET3
(D) T

Py 3 & 3 ot gt < i Feraren 7
27

(A) waeut

(B) 3raafehe €aY
(C) WHEI g 1 AT
(D) Y=t TEY

1947 8 UgH 26 TG0 I FHaT e AT
(A) T feaw

(B) el feaw

(€) wfeum fmm

(D) ot T Ream

1 5 ¥ 9 1 watfirs v wemf
TG TR R 7

(B) SRR %1 ety

ORRLIE S L1 F re—
(D) TS
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41.

42.

43,

(D)

Which of the following is second
largest tribe in India 7

(A) Santhzl

(B) Bhil

(C) Munda

(D) Gond

Who amongst the following was
awarded ‘Razjiv Gandhi Khel Ratna
Award’ for 2019 in wrestling 7

(A)
(B)
©

Bajrang Punia
Sardara Singh
Deepa Malik

Sushil Kumar

When was the Universal Declaration of
Human Rights adopted by the United
Nations ?

(A)
(B)
©)
(D)

10 January, 1920

4 April, 1949

24 October, 1945
10 December, 1948

Who amongst the following is
considered as father of India’s space
programme ?

(A)
(B)
©
(D)

Nambi Narayanan
G. Madhavan Nair
Vikram Sarabhai
A.P.J. Abdul Kalam

Series-B

—
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&
o

c) 7@
(D) T2

emEaER 20193 T 3 TR
(A) FFATEA
(B) == =2
(C) ZTma==
(D) == TR

- ~ -
Ta-F == =

~

AL
(A)
(B)
©)
(D)

10 =541, 1920
4 FIH, 1949

24 Fa7ET, 1945
10 fz=m=t, 1948

i3It sa s s ssmm
TS A TR ?

(A) s FrE

(B) . wras Arw

(C) Tomrm wmomd

(D) TS, 3= Ham
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44, Among the following states, which has
highest forest denaity in India 7
(A) Nagaland
(B) Mizoram
(C)  Assam
(D) Gujara
45. Ro-Ro ferry stanted by Prime Minister
of India connects which two places ?
(A) Bhavnagar and ¢ shoga
(B) Bhavnagar znd Daznej
(C) Somnath and Dwarka
(D)  Ghoga and Dahej
46. Which of the following is post disaster
measure ?
(A) Zoning
(B) Reconstruction
(C) Planning and Policies
(D) Early warning
47. DBritish  Prime  Minister Winston
Churchill received MNobel Prize for
(A) Physics
(13) Literature
(C) Economics
(D) Peace
Paper-I
!

7

—

|
i
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

14
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47.
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L o L"; 7= =ay, :o'é'-’

(A) P

-1 & TUTEES 24 7= ST 3 :57"‘7
oS T

(A) ST 27 =mm

(B) w&3=3m £nzzs

(C) =mm=13 Fmzm=

(D) = Frzzz

E=g-E- T AR E IR FTIEE 7

(A)

(B) =t

(C) 731 ¥n Fifazt
(D) & v

TR A
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(B) wfem ¥ fom
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(D) w1ifa % fou
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48.  Who is the current chairman of the
National Human Rights Commission of
India ?
(A) Justice S. Rajendra Babu
(B) Justice H.L. Dattu
(C) Justice K. Balakrishnan
(D) Justice A.S. Anand
49. When was  National Disaster
Management Authority formed ?
(A) 2006
(B) 2008
(C) 2011
(D) 2005

50. When was air transport started in
India ?
(A) 1915
(B) 1921
(C) 1926

(D) 1911

51, On which day the design of the
National flag of India was adopted ?

(A) June 10, 1947
(B) July 22,1947
(C) August 15,1947
(D)
Series-B

January 26, 1947

I 48.

——— ———— —

e e e e e

49.

50.

S1.

wTed & T AETIRR A ) o
HATBA B 7

(A) =maefd T AT

(B) =magfd TaL.UE. &

(C) =mafd %, AETEIH

(D) =mFHfd T.0H. A4

Y e FE-F 01 1 T3 4
g3 ?

(A) 2006

(B) 2008

(C) 2011

(D) 2005

W 3 91 TREE S 0N 53T ?
(A)
(B)
©
(D)

1915
1921
1926
1911

W T S % W @ e fE
i e ¢

(A) I 10, 1947

(B) T[S 22, 1947
(C) 30T 15, 1947

(D) W&l 26, 1947
paper-1
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AW

S2. What it

the minimum land area
Tecommended for forest cover to

Mamntain proper ecological balance in
India ?

(A) 27%
(B)
(o
(D)

-
_"-_ﬂa
I

> s
sf‘-l

Which state has the highest potential
for the development of solar energy ?
(A) Madhya Pradesh

(B) Tharkhand

(C) Unar Pradesh

(D) Rajasthan

Which of the following atomic power
plants has largest installed capacity ?
(A) Kaicapar

(B) Kaiga

(C) Narora

(D) Tarapur

VWhich is the largest tribe in India ?
Santhal
Gond

\
L
.

(A)
(B)
(C)
(D)

Where does Toda tribe mainly lives ?
(A) Jammu and Kashmir

(B) Tamil Nadu

(C) Rezjasthan

(D) Assam

paper-l
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§S.

5 g g d@ A1 % famE H Fmius
HEATR 7

(A) w927

(B) @@

(C) IWweH

(D) TFEH

Preferfaa § @ e T i 9499 9
1Y SHAT §aiuS 2 7

(A) =TI

(B) #m

(C)

(D) T

WA & FE i S S w2
(A) g™
(B) iz
(C) ==
(D) =

ﬁvmﬁw:wmmmg?
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(C) TIwm
(D) 3wy
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v
»
57, Where is Indian Grassland and Fodder | 57, vty soome @& = TR g,
Research Institute located ? wel fREe 7
(A) Kota (A) =@
(B)  Jhansi (B) widht
() Lucknow ©) &S
(D) Jaipur (D) wag
S8, Which is the largest natural port in §8. NRd W1 gEH gri;ﬁa; FTOME FF |
India ? 27
(A) Cochin (A) =N
(B) Chennai B) ¥
(C) Tuticorin (€ it
(D) Mumbai D) T=%
§9. Which Indian language, is spoken 59, TR= % wvera w17 Ht wrdte ww R
maximum in the world after Hindj ? el steft = areft Wi d 7
(A) Tamil (A) df
(B) Bengali (B) et
(C) Malayalam (C) WeETem
(D) Telugu ; (D) deq
l
60. Which state has maximum road density ? ,l 60. W@ % 5w T ¥ wewl W ww
(A) Haryana | waifes 2 7
(B) Kenala ' (A)
| ® ¥F=
(C) Gujarat | |
(D) Punjab l (D) I 1
Series.B 17 Paper-I }
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61.

62.

63.

Charvaka philowphical system was

also called :
(A)
(B)
©)
(D)

Lokayata system
Astika system
Mimansa system

Vaisesika system

Arrange the following in chronological
order :

a.  Satvahanas

b.  Vakatakas

c.  Chalukyas

Select the correct code from the

following :
(A)
(B)
©
(D)

b-c-a
c-b-a
c-a-b

a-b-c

Ashokan inscriptions in north-western
part of the Mauryan Empire near

Peshawar were in:

(A) Brahmi Script

(B)
©
(D)

Aramaic Script
Devanagari Script

Kharoshthi Script

Paper-I

e — e ———

18

61.

62.

63.

A T 3 Jea 3 fee IW-IRE

i vehes % et 2

(A) R Rl

(B) e fafy &

(© e Ry &

(D) wind frfd 3
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historical work «“Gaudavaho” like .
* }l:alhana’s “Rajatarangini” Was written ﬁg’ﬁﬁ?‘frﬂ__gi_@”ﬁq-@ﬁzﬁ:
oy (A) TR &
(A) Sandhyakaranandin : (B) g
(B) Vakpati . S
(C) Banabhatta
(D) Bilhan (D) Faregm g .

65. 3 e 3 SrEa % Gug P gi=gal 98 o

The collection of the writings of the

65.

Saivite saints is considered as Fifth gqyr:ma'r% | I9TUH LU HHEAHL?
Veda. What is the name of the above

, (A) eIy
collection ?
(A) Tolkapium (B) facqdis

Silapaddik:
(B) Silapa aran © 32
(C) Manimekhalai

(D) o

(D) Tirumurai

66. Trefeiaa Tal § ¥ oY Wigdl, gRet aur

66. Which among the following kingdoms

was founded by two Brothers, Harihara T 1 fopehl wmaaT £ oft 7
and Bukka ? (A) o SN
(A) Kingdom of Vijayanagara ®) e
(B) Kingdom of Kakatiyas
(C) Kingdom of Hoysalas (C) TIEeT T
(D) rich T hit

(D) Kingdom of Kampili

67. The foremost Indo-Roman trading

l
|
|
|
station in Eastern India was : I ARUERL
(A) Rajgir | (A) TR
(B) Arikamedu { (B) Ay
| (D) Tamluk
! D
: Series-B l|9 (D) aHgH :
aper-I
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68. Govermmen: of medieval period was a

69.

composite structure. It was a fusion of
(A) Turko-Mongol (Central Asian)

(B) Turko-Mongol

(D)

Who was the founder of Visistadvaita

iddhanta ?

[72]

(A) Rzmanmjacharya

(B) Vazllzbhacharya
©

(D)

Srikznthacharya

Mzdhavacharya

Quwwazt-ul-Islam Mosque and Arhai
respectively at :
(A)

situated

Delhi and Lahore
(B) Ajmerand Delhi

©

(D)

Lahore and Ajmer

Delhi and Ajmer

Paper-1

Wﬁm@mm?ﬂ 13
ekl
(A) TH-F (75 TR H

(-B) m_m' g*-q}ﬁa (W
) |
(C) FRE-3TE, Th-HiIel, W 7w

£l

(D) BRE-FE H

imaa e s I s 4 ?

(A) TETESTEHE
(B) TeowEH™

(C) Hw3=d
(D) IHSEHE

TEa-3IA-FEAH HeaE quT HIRE feA
msﬁmmf&m%

(A) Teeelt @ amg g
(B) U foeeit i
(C) TR sy i
(D) feeeft wd s i

Series-B
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73.

-—

o events of History

Arrange the followin
in chronological

of Modern India

order:

a.  Swadeshi movement .
b.  Lucknow pact \G\e .\
Morley-Minto reforms  * o°

Foundation of All India Muslim

~T0

4
Q
\L\

c.

d.
League "

Select the correct code from the

following :

(A) a-b-c-d

(B) d-c-b-a

(C) d-a-c-b

(D) a-c-d-b

Who have appointed First Indian
Education Commission and in which
year ?
(A)
(B)

Lord Ripon in 1882
Lord William Wedderburn in

1885
Lord Curzon in 1905
Lord Lytton in 1880

©)
(D)

Permanent Settlement and Ryotwari
System of land revenue introduced
respectively in :

(A) Bengal and Madras

(B) Madras and Punjab

(C) Madras and Bengal

(D) Punjab and Bengal

Series-B

| 71.

72.

(D)

sy v & ghagra H Rl
Tl @ e PR SaiRn

Hifu
a. Fﬁ?ﬁaﬂ?ﬁm
b. TEAS GEHAT

c. ﬁﬁ—ﬁ?}gﬂﬂ

4 afge s gfem T @@
ESIIRE]

Frerferfa 3 @ wt g 1 7 HIT:

(A) a-b-c-d

(B) d-c-b-a

(C) d-a-c-b

(D) a-c-d-b

wrer el e s & fgf fhe
AR frgad Hit ?

(A) «rEReTIad 18824
B) e faferw detad 3 af 1885 7
(C) i oA ad 1905 7
(D) s ferer ¥ ad 1880 |

Y-S 6 W a<iaed ta Faare!
TUTTcAt SHRST: & 61 778

(A) ST T g
(B) WHgH TUT 9ATH §
(C) Wz auT smrer
G T ST
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75.

76.

77.

Who have introduced the printing press

in India and in which ycar ?

(A) Portuguese in 1550

(B) Spanish in 1680

(C) Frenchin 1745

(D) English East India Company in
1674

Which of the following states in India,
do not share border with Bhutan ?

(A) Assam

(B) Sikkim

(C) Bihar

(D) Arunachal Pradesh

In which of the following parts of India
“Atolls’ are commonly found ?

(A) Near Sunderbans

(B) Near Khambhat Gulf

(C) Near Lakshadweep

(D) Near Rameshwaram

" Which among the following introduced

the Provincial Autonomy in British
India ?

(A) Government of India Act 1919
(B) Cabinet Mission
(C) Simon Commission

(D) Government of India Act 1935

Paper-I

s e e 3 TR 7

(a) e A 1550 |
(p) et 3 1680 7 |

() w3t 17455 |

(D) e §= e FEEA 3 A 1674
7|

frer 3 & N |1 W T, S F 9
dor g afear 2 7

(A) a9
(B) faftsm

(C) faEr

(D) T W2

B % & v & Rew ym § amoaar
ST (Atolls) 91 JTa & ?

(A) T e

(B) =@ @ % fwe
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79.

80.

81.

Which of the following characteristic
feature is appropriate for Narmada
river ?

(A) Volcanic origin

(B) Wind origin

(C) Structural origin

(D) Glacial origin

Which of the following coastal region
in India, receives rainfall from North

Eastern monsoon ?

(A) Malabar Coast

(B) Gujarat Coast

(C) Coromandel Coast
(D) Konkan Coast

Which of the following statements is

true regarding earth movement ?

1. Earthrotates on its axis from west
to east resulting into seasonal
changes.

2. Earth revolution around sun
results into occurrence of day and
night on earth.

(A) Both 1 and 2 are true.

(B) Only 2 is true.

(C) Both 1 and 2 are false.

(D) Only I is true.

Indian Satellite Series ‘INSAT’ is an

example of :
(A) Resource Satellite

(B) Military Satellite
(C) Polar orbiting Satellite

(D) Meteorological Satellite

Series-B

Faddsh oo T =3

(D) fe=ri 4=

YE § i 3 3 59 9313 TeH 3 I~
&1 A & 99 &1 2 7

(A) TEERGE

(B) TaUG @

(C) =RMsa ac

(D) Hi®wae

e 5 & 1 1 5 TE1 & T+ 9
LECE N
. TS A W RITHE T

Ui & SR H1aH TiEaT sl 8 |

2. goE % gd % IR R T
¥ FROT Gt W 4 § fo7 giea gia
gl

(A) 1923 TAE I

(B) HIA2TTRI

(C) 1923RTIFTE |

(D) Faa 1R

;mm’i@w‘msn'qmm

(A) HEYH I9UE

(B) ﬂ:zwﬁmm

(©) gt afowfa g

(D) tan e wafa sung
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82.  Which one of the following sector has

greater consumption share of water in

India ?

(A)
(B)
(©)
(D)

Agricultural Sector
Domestic Sector
Mining Sector

Industrial Sector

83. Which of the following Indian state has

recorded negative population growth

according to 2011 Indian population

census ?

(A)
(B)
(©)
(D)

Nagaland
Goa
Haryana

Kerala

84. Which of the following statements is

true regarding Laterite soil in India ?

1.

(A)
(B)
©
(D)

Paper-I

Laterite soil develops in areas
with high temperature and heavy
rainfall.

Laterite soil is rich in humus and
found in West Bengal, Assam
and Odisha.

Only 2 is true.

Both 1 and 2 are true.

Both 1 and 2 are false.

Only 1 is true.

——— —————————

g2, Freadd

83.

84.

oy A 1 7 1 AT M
it 2 7

s SATET 2011 % AR 5=
s T e SHEEA 34 T
THHITER?

frer 3 F I T HYA TR Y AT &
FEidEae?

1. &¥Ee yer I A9 I W N A
& 1 ferhfera i1 € |

2. mwaﬁa(w)m-@ﬁﬁ
2 9 qffadt e, orew 9 IS
et ATt R |

(A) HSaA2TAR |
(B) lI2qMiT® |
(C) 1923 @R |

(D) a1 TAR |
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yhich of the following 18 nol correctly

"m“,h‘:" '/
(p) Aricle
22,

Jight to be defended
by a legal practitioner
of her or his choice,

No law providing lor

(13) Article
preventive detention

224
shall authorise the
detention for a period
longer  than  three
months,
(C) Adticle  Parliament may by
22,2 law preseribe  the

cireumstances under

which a person may

be detained for 0

period longer  than
(hree months,

(1)) Atticle  No person who s

22,1 arrested shall be in

custody without

being Informed, as
soon as may be, of
the ground for such

arrest,

86, As per 2011 Indian population census,
which of the following states has

lurgest number of lOWNA in Indin ?
(A)  Madhyn Pradesh
(1) Uttar Pradesh
(C)  Cujnrat
(1))  Maharashtra
Hertey. )y

25

85, Tnaffiry if 4 4 yifera 71 & 7

(A) swigwg 20,1 - wai 4 wig %
fimewr g
e P
AT |

M) sty 22,4 ~ Farw B &
I F ATt
#r§ fafiy 7 a7
a4 s feg
foba s wftrpa
Té wuft |

(C) 3mwdg 222 - "gfaftgroam
gfifeufaai @1
fufor &t gaft
g ar=la
7 wg & afus
freg fem =
T |

(D) o 22.1 — frewm fd ™
s # firngar
* HIT B IUT
o yitenfasfia
Fard famm
aftwem & &
@1 SR |

86, NG SEIVAT 2011 ¥ IFER, = A |
fre et s A Rl ) g el
L
(A)
n)
(©)
(D)

ey YAy
IO WY
SN

HERTY
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89.

Who said ‘judicial activism’ should not
become ‘judicial adventurism’ ?

(A) Justice P.N. Bhagavati
(B)
©
(D)

Justice A.S. Anand
Justice Ranjan Gogoi

Justice Deepak Mishra

Which of the following case is related
to zamindari system ?

1. Kameshwar Singh v/s State of
Bihar

Ramesh Thaper v/s State of
Madras

Motilal v/s State of Uttar Pradesh

)

LF¥)

4. State of West Bengal v/s Subodh
Gopal

(A) 1,2and3

(B)

©

(D)

2and 4
1,2,3and 4

land 2

Which of the following article is related

to the representation of Anglo-Indian
the legislative

assemblies of the states ?
(A) Arnticle -334
(B) Article - 332
(C) Article-335
(D) Article - 333

community  in

Paper-l
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87.

88.

(A)
(B)
©
(D)

fafafe & ¥ =7 @ 3= T
mﬁm—m%wﬁfﬁﬁa%
wEfa g 7

(A) ITT - 334
(B) FTWT - 332
(C) =T - 335
(D) =T - 333
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91. Union Public Service Commission may
agree to serve the needs of the state I
(A) On request of the Chief Minister '

with approval of the Prime ‘
Minister. ,

(B) On request of the Election '
Commission with approval of the |
President. '

(C) On request of the Governor with |
approval of the Prime Minister. |

(D) On request of the Governor with l
approval of the President. |

Serles-B 27

3. Modi Government

hat is true for Planning in India ?
In August 1937, the Congress
Working Committee at its meeting
in Wardha adopted a resolutio

national reconstruction and social

planning.

Subhash Chandra Bose, in his
presidential speech at Haripura
declared that the national state on
the advice of  planning

commission would adopt 2

comprehensive scheme.
renamed

‘Planning Commission’ as ‘Niti

Aayog’.

4.  Subhash Chandra Bose

announced the formation of a
National Planning Committee
with Jawaharlal Nehru as
Chairman in 1938,

(A) 3and 2 are true.

(B) Only 3 is true.

(C) Allare truc.

(D) 1and 3 are true.

n of

91.

90. Y 3 v 2 af § Fm A B 7

I g @ffafor wa ammfies frivm
H UEE HOG afbn FAA 3

arrer 1937 % aut Agw o =g
for |

2. wfqu &% FW svpdm o d
QT A8 A AT AT %
merg | Y TT 299 et #i
Tftep o T = Al |

3. Y g 3 AT HE AW
Feast Afa amm fen |

4. HTIE 98 A 1938 H SETEETE
Yew &t FEHa § TP T
affy & fmior 6t argon <6t o |

(A) 33M2FAE|
(B) FAA3TAR|
€ whaadl

(D) 13M3TAZ |

T ot Qa7 TN T Y STEEHAA

&1 qfif & forq wewa & wehar 2

(A) FE # ahr ik gy i
gEfa o |

(B) Frafew ama 6t qin 3k agefa H
HEgfa o |

(C) TSgUTe &I qin IR yyurwst A
wegfa o |

(D) TR9E # "in FR upefq &
HEfa W |
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92. Which one is not true for good

governance ?
(A) Transparency and Responsiveness (A) AT T T £

(B) Equity and Inclusiveness (m) T wa TTATE

-

(D) Participation and Rule of Jzw ) e E S T

l
|
|
l
|
|
|
(C) Religiosity and Emotionality { () T e
|
l
|
l
|

93. A person shall not be disqualified for | 93, FPTEE T TZ= I- TE S 2T 7
being chosen 2s 2 member of z =T

municipality
(4) WTMZFZzE==

(A) Atthe age of 20 years

(B) Attheage of 21 years

(C) Attheageof 19 years ;
| M) 1BEFIHFzT==
(D) Atthe age of 1% years I
I
L
94. Who is the zuwhor of the book : | 94 FFT Tz == = i ==
Democracy and Development in India I '-'_:T.'.?-f_;-'.:,’if'.%;_ === == =
from Socialism to Pro-Business ? l %a-;;’fi:
(B) Vishwanath Mishra = B) Tz
(C) Myron Weiner I ©) Te=¥=
(D) Pariha Chanerjes } D) T=E==z5
Paper-1 N SeriesB
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iy
|

Tmder comsoionz] provision of =X
sssip—e & Idiz which of the

- - = -
Slow/s 1S 2 =X SXCOOST

a:- x" ﬂd‘.-::;'x. s""‘a "(?

(A) IcomeTaxx
B) Lexd Pzvemze
(C) CorporztionT=x

(D) GST

Who has been zshorised 10 constitute
Finance Commission * 10 review
Sinancizl position of Panchzyat ?
(A) The Governor of 2 State

(B) Tme Chief Minister of 2 State
(C) The Spezier of 2 legislative

zssembly
(D) The President of Indi2

T 3, & o d @ 3y o gEne
FFARH UETAS A Y 7

(A) Ii?_..a?ﬁ Ea’.lq

(B) %-.?Diﬂ.naa 'ili?l”,

(C) =fm | F Fwm T

(D) F=-—-F749ra4

wrr S BT S FAE TATE
Srm I E I A A AT L TR
STz S AR A T2 7
(A) FEF

(B) %754

(c) FmE=

(D) F.g3.70.

Farmar 1 e wae B R
% fog g FEm $ TS F TSR

s T 2 7

(A) TEH T

(B) T % FEEAA
(C) fmRaws 3wy

(D) %A UgIa
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98. Second Five Year Plan of India was | 98. .
based on an economic model developed forpfaa @ i qset T vl
by I oft |
(A) P.C.Mahalanobis (A) . TR
(B) Amartya Sen (B) A
(C) C.H.Hanumantha Rao | (C) o= TR T
(D) Dadabhai Naoroji | () FemE AT

99. Which of the following is the correct 99, P & HA A HA w7 2, fred gfia
order in which the mentioned measures T  HTIH] I STt {5 T ?
of development were introduced ? (A) wfy =afes %@, HDL PQLI
(A) Pgr—capita Income, HDI, PQLI I (8) POLL HDI, PSSP
(B) PQLI HDL Per-capita Income |
(C) Per-capita Income, PQLI, HDI ©) afd =t 3, PQLL HDI
(D) HDI (Human Development (D) HDI (va fas= EGEZED wfa

Index), Per-capita Income, PQLI =ft 3, PQLI (‘ﬂﬁﬁ Figq T
(Physical Quantity of Life Index) W)
100. In India’s Union Budget, Fiscal deficit | 100. T ¥ I T J TISINFG "I HT
means areqd graT 8
(A) Net increase in  Union R L Cp—
Government’s borrowing from I - o q&: I
the Reserve Bank of India. |

(B) Difference  between  current I (B) aﬂ’@é Ak |l A™ EE I
expenditure and current revenue. i I |

(C) The difference between total ' (C) TE T2 T & 6 TR
revenue and total expenditure of | T @ ﬁ‘m +0 % for e
the government. l R Fr TR |

(D) Sum of monetized deficit and I
budgetary deficit | (D) i Hre 3 I e i S |

Paper-I 30 Series-B
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